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V PAUTA Tarea 2

L Profesor. Raul Manasevich
Auxiliar: Alfredo Nunez

V Inicializacién

> restart,

> with(DEtools) :
> with(plots):

> with(linalg):

> with(PDEtools) :

>
Vi
> pl = diff (y(t), 186) + 72-diff (y(1), 1$2) —1720-y(t) = 0;
6 2
pl :Zd—6y(t) +72 [d—zy(t)]—l720y(t)=0 (.1
i dr dr
> solul = rhs(dsolve(pl, y(t)))
solul = C1eV1" "+ c2eV!0! (3.2)
—i\/—10+4mz
+ 3¢ 2 sin(%\/ 10 + 4 23 zj
l\/—10+4mz
~ Cc4e? sin(% 10 + 4 V23 r)
—l\/—10+4mt
+ _Cse? cos(%\/ 10 +4 43 z)

%\/—10 +4J43 ¢ (

+ Cb6e cOs

V10+4/43 r)

1
2

> evalf (solul);
_C] e3.1622776601‘ + _C2 e—3.162277660t (33)

+ 3 2B (3.009557862 1) — 1. C4 &P i (3.009557862 1)
+ C5 ¢ BB 16(3.009557862 1) + C6 =1 HME 155(3.009557862 ¢)

>




> p2 :=diff (y(1), 183) =15-diff (y(1), 1$2) =33-diff (y(¢), t) + 847-y(t) =0;

3 2
p2:= d—3y(t)—15 [ :tz y(t )j—33 (%y(t)) +847 (1) =0 (4.1)

> solu2 = rhs(dsolve(p2,y(t)))

i solu2:= Cle '+ C2e'''+ C3e'''t (4.2)
[>
>
\ 4 P2
> p3 =diff (y(t), 1$2) =10-diff (y =25-y(t);
_ d_2 A
p3i=- 5 (=10 ( G ) 2500 (5.1)
> solul = rhs(dsolve(p3,y(t)))
i solul .= Cle'+ C2¢&'t (5.2)
>
\ 4 P2 i
> pd = diff (v(1), 83) +3-diff (y(1), 182) —4-diff (v —12-y(1) =0;
_ d_3 d_2 i _
pé:= e y(t) +3 ( 2 y(t)J 4 ( & y(t)) 12y(1) =0 (6.1)
> solul = rhs(dsolve(p4,y(t)))
i solul = Cle*'+ C2e°'+ C3¢*! (6.2)
>
\ 4 P2 i
> p5=diff (y(1), 1$4) -2~ dzﬁ‘ ), 182) +y(t) =
d* ¢
pS=—,y()-2 [ (1 )j +y(1) =0 (7.1)
. dr* it
> solul = rhs(dsolve(p35,y(t)))
i solul = Cle+ C2e't+ C3e’'+ C4e't (7.2)
(>




>

Vriv
> p6 = 2-diff (y(1), 185) =7-diff (y(¢), 1$4) + 12-diff (y(¢), 1$3) + 8-diff (y(¢), 1$2) =0,
o) (G )G+ (o)
6:=2|—<y)|-7|—y@) | +12| —<y(t) | +8 | — y(t) | =0 8.1
p (dts y()) (dt4y() e y(1) dtzy() (8.1)

> solul = rhs(dsolve(p6,y(t)))
1

-1
solul = Cl+ C2t+ C3e? + C4e'sin(21) + C5¢*'cos(21) (8.2)

>




